Math 1220

Exam 2 February 9, 2012

Name: g / gl: D

Instructions:

Answer the questions in the space provided.

You must show your work in order to get credit! Writing just an answer
is worth 0 points, even if the answer is correct.

Partial credit will be awarded.
The instructor has extra scratch paper if you need it.

Graphing and scientific calculators are allowed, but smartphones and
computers are not allowed.

This exam is closed book and closed notes, except you may use one
double sided 8.5 by 11 inch page of notes.

1. Evaluate the following trigonometric expressions:
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2. [10 points] Find / Mdm. A
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4. [10 points] Find / 23 sin(z)dz, hint: tabular method
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5. [10 points] Find / sin?(z) cos®(x)dz.
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6. [10 points] Evaluate / sin(2zx) cos(4x)dz.
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Hint: Use symmetry.
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8. [10 points| Use partial fractions to find / mdm'
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9. [10 points] Find the limit if it exists:  limg 0 m o
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11. [0 points (bonus)] When does the narwhal bacon?

Question | Points | Score

1 10
2 10
3 10
4 10
5 10
6 10
7 10
8 10
9 10
10 10
11 0

Total: 100




